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LSMEO-2016 Question Booklet Series Code: A
Maximum Mark: 120

Question Book Serial No. MEOO703009

Time Allowed: 02.00 hours

G8I6e ang : 02.00 Al QYR QI : 120

Read the following instructions carefully before vou begin to answer the questions. This Question Booklet
contains 120 objective type questions with multiple choice answers, viz.. 70 on Mathematics in Section-A, 20
on English in Section-B and 30 on Odia in Section-C. The questions in Section —A have been given both in
English and Odia language as far as practicable.
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INSTRUCTIONS FOR CANDIDATES
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. This Booklet contains in all 120 objective type questions with
multiple choice answers as detailed above.

. All questions are compulsory and carry one mark each.

. Before answering any question, checkup the Booklet and ensure
that it contains 24 pages and no page is missing, mutilated or
repeated. In case of any defect replace it immediately.

4. The Invigilator shall supply vou the blank OMR Answer Sheet
separately. Enter vour Roll Number, Question Booklet Serial
Number and Question Booklet Series Code and darken the
corresponding circle‘oval provided on left side of the Answer
Sheet carefullv by black/blue ball point pen only. You must write
the name. date and center of examination and put your full
signature in the appropriate spaces provided therein before
answering any question,

. A machine will read the coded information fumished by you in the
OMR Answer Sheet. If the information so furnished by vou are
incomplete or different from what have been given in the
application form, vou will be awarded Zero mark.

6. These instructions must be complied with fully failing which your
Answer Sheet will not be evaluated and Zero mark will be
awarded.

7. Answer must be given by completely blackening one of the four
circles/ovals representing the correct answer given on right side of
the Answer Sheet corresponding to the relevant question number
by using Black/Blue ball point pen only. Answers not shown by
black/blue ball point pen shall not be awarded any mark.

8. Failure to hand over the Answer Sheet to the Invigilator before
leaving the examination hall’room will make you liable to penal
action.

9. Read carefully the instructions of answering each question before
answering it.

10. Answer the questions as quickly and carefully as you can. Some
questions may be easy and others difficult. Don’t spend too much
fime on any question.

11. No Rough work has to be done on the OMR Answer Sheet. Space
for rough work has been provided in the Question Booklet
wherever needed,

12. You mustnot carry into the examination hall/ room any book.

mobile phones or electronic devices printed’handwritten papers

except the Admission Letter.

Failure to comply with any of the above instructions will
be considered as using unfair means and action as deemed proper
will be taken against the violators.
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Section - A : Mathematics

1.What is the square of 11117
1111 @ Q4 62697
A) 1234321 B) 12321 C) 1112311 D) 1232341

-What is the rate of interest if a sum of Rs.4000/- becomes Rs.5000/- in 5 years on
simple interest?

QA% QI 2Ie6x 4000 &1 5 986a 5000 SFIG 9F 626R, PUR LR 6R6E ?

A) 10% B) 8% C) 5% D) 4%

-Which of the following four logical diagrams correctly represents the
relationship between Tie, Shirt and Shoe?
G¢l 9ea 916 3 FIIQ 6996 SN, AT Ie° 681619 JEFR /g8 ?

5 O
(A) (B) (c) (D)

-If the position of the last 2 digits of a 3 digit number are inter-changed, the new
number thus created is 54 higher than the original number. What is the
difference between the last two digits of the number?

@ Ghae 388 THYIR 669 QAITR A6 AAIER RER, VYR LY AR AHYIOIQ 54 2R
24 | 6062 649 90 ATR AV EREE 7
A) 6 B)9 )2 D) None of these

-Nabaghan borrowed Rs.10000 from a bank at interest rate of 10% and lent the
same to two persons at 13% interest. How much profit will he earn after 5
years after repaying bank loan?

QAR 10% 21068 QUIEQ 10000 S5 966 @& 13% 21068 R 6RING 208 64wl 1594
6996Q 6QZQ PI'Q QUIE QS ARSI KB 6R6F O RN RS ?
A)Rs.1200 B)Rs.1500 C)Rs.2100 D) Rs.2500

.A sold a bi-cycle to B @20% profit and B sold the bi-cycle to C at 25% profit. If C
purchased cycle at Rs.1500, what is the sale price of the bi-cycle?

A, B § 42 Q6aR 20 % RIVER 8 B, C § 25% RUNEH 85@6R | 9@ C aAncang 1500
SFIER @2, 6969 AIRCARNA TGEINY 6@6E T 6297

A) 1000 B) 1100 C) 1200 D) None

.In acertain code, '5 9 2" means ‘Come and Play’, '3 5 7' means ‘Go and Sleep’
and 2 1 6 means ‘Play but Read’. Which of the following means ‘Come’ in that
code?

65163 QUeeBR6R 59 2 @ 2 “2I Ne° 68F” 35 7 @ 28 Q12 Ie° g2 9e° 2 1 6 @ 2
‘6o @3 9Q” | 693 ATTRER F6qIS 6995R 28 “Come” ?
A) 5 B) 7 C)2 D)9
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8.What smallest number shall be added to 4515600 to make it a complete square
number?
4515600 69 699 GO Hl 62T F6R CAITTR 4@ gded aeal 6297
A) 23 B) 64 C)25 D) 16

9. The minimum mark to pass an examination is 33% of the total marks. A student
secured 220 marks and failed by 11 marks. What is the total marks of the
examination?

661 ARIBIER DI KRR IR ST AL 6916 2R 33% | @648 818 220 e g 11
A QIR 6TR 626R | AQITIER 6411 PR 6Q6S YR 7
A) 800 B) 700 C) 900 D) 600

10. Three different positions of a dice with numbers inscribed on each side have
been shown in the following figures. Find out the number opposite to 6.
56919 529FR6a g6aYR AIFEa LHIAIR ERIIVIA 6aIT ARG S6aIE Tor 86
Q6N | 6 @ FaR1e ASF AR AHIT 6266 ?

rAT 1
P 5B LE
(A} 4 (B3 (C)1 {D) 2

11.If the ratio of the sides of 2 cubes is 3 : 4, what is ratio of their volume?
@_Gl@ 1IN G‘Ig e E‘J‘QE]I@ 3 4 698, CAAIeaa Lo ?J@GI@ E@REQ 699 7
A)3:4 B)4:3 C) 64: 27 D) 27:64

12.A bicycle was sold at a profit of 20%. If both the cost and the sale price are
decreased by Rs.100, there will be an additional profit of 4%. What is the cost of
the bicycle?

Qe ARCIRG 20% RINER &7 QTR | AT Q0D FARY 8 TFIRIER 6.100 6RSN QAUAIN,
6062 4% 2R R\ RS | ANEINA FALIRY 6R6C ?
A) Rs.500 B)Rs600 C)Rs550 D) Rs.650

13.5 years back, the age of father and son together was 45. What will be the sum of
their ages after 5 years?
58 g6< QI 8 9ua @0 8 45 o gl | 5 9 96Q 6ATINETR QAAR AR 660 6267
A) 65 B) 60 C)55 D) 50

14.Select the missing number of the circle from the responses given below.

Q6918 Q8 AINE FRIQ 6RAS 9RQ FESIR ZaI QY 26S?
< 4

A) 34 B) 90 C) 65 D) 85
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15. Which of the following are the pairs of co-primary number?
F6CIIB 62T FRIQ 62 6AIBE T0QR 6A1RR AW 6AIS 263 ?
A) (32,62) B)(14,35) C)(31,93) D)(17 19)

16.Rahim reared some hen and goats. If the heads of the hens and goats are 90
and their legs are 248, how many goats did Rahim rear?
Q201 38 990! 8 687 AIRYRI | AG 687 8 ggels 8 8 90 8 6elIe Fi8 248 g4, 6569 a&¢]
6REQIS 687 AIRYRI ?
A) 32 B) 34 C) 36 D) 40

17. When from 5 persons, one with 60kg weight left and a new man joined the
team, their average weight increased by 2kg. What was the weight of the new
man?

5 @4l 6RIF FRIQ 60 @.9). BRe8 F66 6RIR QALAAAIRN AMSEE G2 6RIS GIF ATE 629
6QQICER (TR ARIVAR 8RR 2 @.9]. FEARI | 6869 Q8 6RINTA B3R 660 ?
A) 50 kg. B) 65 kg. C) 68 kg. D) 70 kg.

18.In how many years a sum of Rs.5000/- will become an amount of Rs.5832/- at
compound interest rate of 8% per annum.
QI8 8% 21668 5000 6IQ AR 999 Ju 6966 986Q 5832 61 629 ?
A)3years B)2years C)4years D)Syears

19.By what greatest number will 756, 2249, and 8227 be divided to leave the
remainders of 9, 8, & 10 respectively?
609 9BV Al FIRI 756, 2249 6 8227 § NUTRER QUGEAS Lelgea 9, 88 10 @& ?
A) 77 B) 747 C) 889 D) 898

20.The simple interest of some principal is its 16/25. If the rate of interest and the
time are same, what is the rate of interest?
62163 99 RUFR AR QI RIS 16/25 2rél | AT 20A PRI AR B ANV AAUR P9, 6969
QIQ LR 6R6L 7
A)5 B) 8 )7 D) 4

21. What smallest number must be subtracted from 34967 to make the result of
subtraction a complete square number?
34967 Q 699 YO A FELUT F6R, FCATTR IS AT Q°HHYI 629 |
A) 371 B) 317 C) 316 D) 361

2.fA:B=3:4andB:C=8:9, whatisA:B:C?
Q@A:B=3:4686B:C=8:999 6069 A:B:C 62607
A)6:8:9 B)8:6:9 (C)9:8:6 D)3:32:9
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23. What will be total compound interest of Rs.8000 in 9 months at compound
interest rate of 20%, if interest is calculated once in 3 months?
A3 3 q1ag 26a P 2AIe FaUKIN, 8000 eI 20% ©99F QM 2IREA I FIAQ 6616 TR
QI 6R6© 6297
A) Rs.1250 B)Rs.1258 C)Rs1261 D) Rs.1270

24. A book was sold at a profit of 12%. There would have been 18% profit if the sale
price was 8 paise higher. What is the cost of the book?
6AIN Q@€ 12% RIVER 7 KNSRI | TFRY 2R 18 AQI 2R 6L1RYER 18% RIW 621R2AIS
| 925 QATRY 6@3 7
A)Rs500 B)Rs200 C)Rs400 D)Rs3.00

25. What shall be the percentage of profit if a shopkeeper sells 2 lemons at the cost
price of 5 lemons?
@641 6QIRIRT 5 T 6RYQ B4l AFKA 2 § 6RYF FTRER SITIQ I0RS| NIV 6667
A) 100% B) 125% C) 150% D) 130%

26.\What is the cube root of ;3;]5;1 ?
—1331
7
2056 QQQ‘F]? ERES
i i = 21 21 11
A)—g B)—% Oz D)-1%

27. An examinee secures 30% marks and fails by 50 marks in an examination.
Another examinee gets 320 marks and fails by 30 marks. What is the maximum
marks of the examination?

@661 9Q1SIEl1 9@ aQ1BIea 30% 2qa aF 50 AIe I 6TR 94 | AR @68 aIMIE 320
agle g 30 FIF QIR 6T, 24 | 6969 RINIR ATIYR FIF 6R6E ?
A) 700 B) 800 C) 900 D) 1000

28.|f 517 * 324 is divisible by 3, which of the following small numbers will replace

the star mark?
QG 517 * 324 HYIE 3 910 FAIRY 9, 6669 * Y2 FINER FETID 629 JOO THIIT 0Fa ?
A) 0 B)1 C)2 D) None of these

29.1f the salary of A is 25% higher than the salary of B, by what percent is the salary
of B less than the salary of A?
Q8 A @ @a¢ll B @9l @ 25% 2D DY, 6669 B @ Q@afll A QQAIQ IR 6RE6Q @1 7
A) 15% B) 25% C) 10% D) 20%
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30. The depth of a water tank of cube size of equal sides is 200cm. If 1000 litres of
water is drawn-out of the tank daily, in how many days will all the water of the
tank be emptied?

6515 AARRIRIA QI8 SIFQ AR1eE! 200 628 | 9gQ 650% 1000 Ao QIS QITEAER 6R6E
QREQ AIFIER 689 6QARIS?
A) 4 days B) 6 days C) 7 days D) 8 days

31.1f white is called Red, Red is called Blue, Blue is called yellow, Yellow is called
Black, Black is called Green and Green is called Grey, then what is the colour of
the clear sky?
A3 URIQ AR, ARG AR NE° F1Rg RTU YRIAN, 2RTAIG FF, FRIQ AGE I° AEY YA}
QRIAIN, HFR 2RI QST RE1?
A) Red B) Blue C) Yellow D) None of these

32.A, B & C start a business by investing money in the ratio of 5: 7: 6. Next year,
they increased their investment by 26%, 20% and 15% respectively. Profit
earned during the second year shall be distributed in the ratio of -

5:7: 6 2gaIe6a 98 569690 A, B 8 C 6615 q4aqia 21ea @03 | ¢l aaed 6acice 9&
G698 Qelgen 26%, 20% 99 15% eQia 723 | §o1a Qf 62IRLRI RING 694 AFASER
QR QUL ?

A)21:28:23 B) 26:20:15 €) 381 2=l D) None of these

33. Three of the following four are alike in a certain way and hence form a group.
Which is the one that does not belong to that group?
Geqia G166 c1Ip F6aIE 66T FAT JB6R AFIR | 69RC 632 69ITIR 6% ?

A) OSV B) NRU C) GKN D) EHL
1t X=(3 +V8), then, @® + )= ?

99 X =(3 + VB) 94, 60689, (x? + ;)= 6960 6237

A) 38 B) 36 C) 34 D) 32

35. Which of the following boxes can be created by folding the given key design

in the question figure?
04 9960 99@ FIp 6adIGa] AIFRd F6aIe 624 Q19T F2IR @R

Question Figure Answer Figure
4 6 6 7 i - 4
5 | 6 5 4 3 | 2 5 |5 1 !5
1 i —— T
3 | 2 (A) (B) (C) (D)
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36.In a joint venture A & B invested money at a ratio of 3 : 2. If 5% of the total profit
is donated to a charitable institution and A gets Rs.1824, what is the total profit?
A 8 B IR 6412 491968 3 : 2 290I06R 28] fF6QIG FER | 9@ 641IS RINA 5% IS QIGRY
2QRAURY Qe QUL 9G° ‘A’ 1824 o'F1 AN, 6C6R 671IS RIW 6R6S T@1?
A) 3000 B) 3300 C) 3200 D) None of these

2 =2744 = ?
V27x3=2744 = 6969 6297
A) -52 B) -42 C)-32 D) -24

38. The average monthly salary of 10 employees working in company is Rs.6835
and the average monthly salary of 3 women employees among them is Rs.5428.
What is the average monthly salary of the rest 7 employees?
60IGN @41IF6R FINRRESI 10 @6 AFCIRTE 2RIAIR AIAR 6908 6835 oI I° 6O
ARIER QI 3 B8 FER! ISR FIZR TR 69BR 5428 G | 6562 2ARE] 7 KIS
2ULIA FIAR 690 66 ?

A) Rs.6550 B)Rs.6845 C)Rs.7238 D) Rs.7438

39.7 members of a family live for 36 days at Rs.840/-. How many days can 9
members of that family live at Rs.8107?
6615 ARRIAR 7 @8 @ 840 IR 36 @ 0RAIRE | 69T 9RQIea 9 24 4@ 810
STIER 6R6S @8 OF AIRBS ?
A)24days B)27days C)30days D) 36days

40.In certain code GEAR is written as 5914 and ROUTE is 47289. How shall GATE
be written in that code?
6<l6d AEEER6a GEAR § 5914 @° ROUTER 47289 6R¥IAN | GATE] 692 Q6o
Q0 SIS ?
A) 5187 B) 5189 C) 5289 D) 5429

41. A B & C invested Rs.114000 in a business. At the end of the year they got profit
of Rs.337.50, 1125 and 675 respectively. What is the investment amount of A?
A, B 8 C 99 949QI196Q 6916 114000 o GF6QIS 96/ | 98 66860 6ACNEH QRIS
$.337.50, 6.1125 8 6.675 RIa AIRsR | A @ IF64I6 22ia AR 666 ?
A) Rs.18000 B) Rs.60000 C) Rs.36000 D) Rs.48000

42.The population of a town is 300000. If the birth rate is 5% and the death 3%,
what will be the population of that town after 2 years?
61T~ A2aQ 6RIKA°SMY 300000 | IT SFEIN 5% B PV 3% 6T, 6669 2 @8
J6Q 6T ALAR 6P Yl 6R6S 629 ?
A) 321120 B) 311220 C) 312120 D) 322110
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43.How many 3 digit natural numbers are there?
o0 2E QER 671 FIEIR A°HYI 6R6QIT AR ?
A) 800 B) 1000 C) 900 D) 1001

44. A person sold a T.V set at Rs.3450 making a profit of 15% and sold another T.V
set at a loss of 10%. If on the whole there is no profit or loss, what is the
sale price of second T.V set?
@64 6RID IR TV § 3450 o16Q 30aQ 15% IR 96w 8 294 9@ T.V § 10% 966a
SFR6R | 9G 6419 QAEAR VT NN A VG 62IQ @ 2N, 6669 GR1A T.V. @ §F ¢JRY 696C ?
A) Rs.3450 B) Rs.4000 C) Rs.4500 D) None of these

45.7 years ago the age of Ajay and Bijay was in the ratio of 4 : 5. After 7 years, the
ratio of their age will be 5: 6. What is present age of Bijay?
7 od g6< Ze0 8 FR0R 99AQ AAIG 4 : 5 Al | EAIN0IR 7 QTAER 6ATITETE AR
290G 5 : 6 629 | 6869 FRAR ABAIR QU 6Q6E ?
A) 56 years B)63years C)70years D) 77 years

46.There was 10 litres of milk in a pot. 3 litres of milk was drawn out of it and 3 litres
of water added. Again 3 litres of the mixture of milk and water was drawn out
and 3 litres of water added. What is percentage of milk in the new mixture?
9 €196 10 R 818 &Rl 1 9RIQ 3 AR TR FLEER 3 RO AId FSITR! | 998 92 [1a 6
aidie geg 3 Aea dgd AI@ 3 RS A8 HAITER, Qo0 g8 F1aa 6ae A8 6R667
A) 50% B) 49% C) 51% D) 8%

47.How many triangles are there in the figure given below?
56918 SG6R 6RELIT GRS 2T ?

(A) 10 (B) 16 (©) 8 (D) 20

48.J, K, L, M and N are five friends. Each of them has a different height. L is taller
than J & N and shorter than K & M. Only one person is shorter than N. Who is
the shortest?

J, K, L,M9e° N QIEQ48 @f | 6QAI9& F1Q J6R1aw @96 @@ 1J9e° N 26agl L aye
6@6T \98° K \98° M 216081 QIR 1 6997 9641 N 26981 QIFFal | 6069 @4 QAQQ QlTFA?
A)M B) K C)J D)L



49.

50.

51.

52.

53,

54.

55.

56.

The ratio of m
quantity of mi
9@ Fg86a 1R
6YQ, 606Q @MY
A) 8 liters

The marked g
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99 Q9 RYS ¢
6O YTIM 194
A) Rs.548

What will be t
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ilk and water in a mixture is 3 : 2. If 4 litres of water is added, the

Ik and water becomes equal. What is the quantity of water?

8 eRQ 2QAI6 3 : 2 1 97 4 ReQ SR8l 1Y, 6669 F1a 8 SR AQAIS AR
AL 6960 ?
B) 10 liters

C)12liters D) 16 liters

rice of a watch is Rs.900. A shopkeeper sold it by giving two
bates of 20% and 10% respectively. What is its sale price?

1Y 900 61 | 6QIRIRT T A9Ig 906 SIGIe ARl QaIged 20% 6 10%
210 YQFIMY 6@6C 629 ?

B) Rs.648 C) Rs.748 D) None of these

he expenditure to dig a cubic size pit of 12 meter depth at the rate
ubic meter?

1@ ATRIRIA TS CHIFAIQ AL FagE 25 oFI AR 6262 P 6297

B) Rs.42200 C) Rs.41200 D) Rs.40200

2 between compound interest and simple interest on a certain
y for three years @ 10% per annum is Rs.248. Find out the principal

A8 6163 @ dRuea AI8@ 10% QI 21968 3 9a 9998 QM 8 0% QIR 2SR 248 6F
94, 6969 FJRUNR RIS 6967 ?

A) Rs.8000

B) Rs.8500 C)Rs.9000 D) Rs.9500

A person went 30 meters to the East from a place called ‘A’ and then 40mtrs to
the North to reach another place called ‘B. What is the distance between A & B?

@66 MB A AR OIQ ge &ag 30 Fica 6 620IQ 2ea Gag 40 4. AIR AR 9L Qe ‘B’ 06a

agsem IABB
A) 70meters

CIRICQ GAGI 6R6Q ?
B) 10meters C) SOmeters D) 100meters

Pointing to a boy, Akash said his mother is the only daughter of my son’s grand

mother. How
69ISN QIReg &
QIRe QTG QNS
A) Uncle

Find out the v

13413
A) 1315/16

13,13

ﬁl

Q

s Akash related to the boy?
(R4 9Q, ARG FARI 64 G A2 61K YR PR IKCG T2 | 2INIIR 6AT
Q&7

B) Father C) Brother

/13 (1313413

amy fas @9 |
B) 169 C)13

D) Son-in-law

alue of

D) V13

What is the square root of 0.0533617?
0. 053361 @ Q41 F@ 6697

A) +0.231

B)+0241  C)#0249 D) 0251
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57.Paresh, Naresh & Suresh started a business with investment of 1/2:1/3:1/4
respectively. After 2 months Paresh took back ¥z of his investment. At the end of
the year, they got a total profit of Rs.378. How much profit will Naresh get out of
that?
604, P6Q8 8 Y6d GREE A8 IR QAL 2IQR FER | 6AANER 6P| JRUGR 2AGAIS
QRUFEA 1/2 : 1/3 : 1/4 | QRFIQ 96Q 9604 &' @ 69aRlQl FIRUAQ 2RI Q0IR saml | oF
66IS6Q 6QACNER 6411 378 O AIV AINEW | 6069 2B NIVQ FEAS 6QEC T AIRS ?
A) Rs.129 B) Rs. 144 C) Rs. 156 D) Rs. 168

58.In the following figure, the circle represents Men, the rectangle represents
Doctors and the triangle represents Lawyers. Find out the men who are
doctors but not lawyers.
P68 Te6Q 98 gORYQ g8 (8T AINEE, 2INSTE ORI KR LIBRAIRE 9e°
3o goRNQ Rg8 BARAIRS | 6RAFIEE Clae @3 Ban g2t Ada e |

N\

b

FI y ',x.
e D\

—

E o0 T\

i N

(A)E (B) JH ()G (D) DE

59. How many meaningful words can be made with the letters ELMA using each
letter only once in each word?
6RYR SIRER FERUR ATOG 26RAIg QINTIQ 28 ELMA 290 A7)eq 67 626015 29 68
QaQ UK QS ?
A) None B) One C) Two D) Three

60.10 years back, the age of the father was three times the age of the son. After 5
years, the age of the father will be two times the age of the son. What is the
ratio of their present ages?

10 @F g6 GoIa 294 9@ 992Aa 57 g8 gal | 5 9dase JeIea 90Q ge 9ude 92 g4
629 | 6369 6AFINTA FBFIF VAR AQANS 66V
A)10:5 B)11:5 C)12:7 D)9:4

61.|f 5% of the sale price of an article is equal to 6% the cost price and 8% of the
sale price and 9% of the cost price make a total of Rs.93, what is the cost of the
article?
A3 69ITN FRER IR 5% B YAIRYS 6% LR AAR NG IR 8% B PRI
9% @ AN 93 T 9, FAITA GATMY 6R6C 629 ?
A)Rs600  B)Rs400 C)Rs500  D)Rs.700



62.

63.

64.

65.

66.

67.
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Section - A : Mathematics

The average age of 25 boys is 15 years. If the average ages of the first and the
last 12 boys are 14.5 years and 15.5 years respectively, what is the age of the

thirteenth boy?

25 @4 QIpeea 2RI9IA 994 15 @8 | gaf 12 941 6 669 12 @A QIR 294 KIS
14598 8 155 @8 626®, 13 071 9I96Q &I ARFA FVQ 69667

A) 10 B) 12 €) 15 D) 16

The present height of a tree is 64cm. Every year it grows by 1/8 of its height.
What will be the height of the tree after two years from now?

6aIS G180 Qe @90 64 628, 1 988 gFed Ge aeeIa 1/8 2°8 Q6E, 6969 QEAIROIR
92 QIU6R T8R QFT| 66 62ARYS ?

A) 76 cm B) 80 cm C)8lcm D) 84 cm

What will be the amount of principal and interest if Rs.860 is invested for 2 years
@2paise per rupee per month?

SFIQE A1QQ 2 ARl 8RR 860 SFIR 2 RER AR 6966 699 ?

A) Rs.1227.80 B) Rs.1722.80 C)Rs.1272.80 D) Rs.1722

Which of the following answer figures will complete the question figure?
&9 998 Q8a 599eag 6995 g4 0esq a°gd «aaIRe ?

Question Figure Answer Figure

¥

(A) (B) (©) (D)

A milk vendor buys milk at Rs.4 per litre and adds 25% water to it. It he sells the
adulterated milk at Rs.5 per litre, what is the percentage of his profit?

@64 F1Q MRV REQ IE 6.4 Q6 V1R @E1 6926 25% AId AdIN | 98 62 AIEASI 1Y
ATAQ gE 6.5 00a FFR6A, PR I0RG! RN 6268 ?

A) 56.25 B) 50.25 C) 55.25 D) None of these

Mohan suffered a loss of 10% by selling his wristwatch at Rs.1440. At what price
he should have sold the watch to get a profit of 10%7?

69190 91'] 210RRTY 1440 FFI6a FaaQ 10% IG AL | 6669 6Q AWTY 6966 TFIER
Q @Ggsm 10% R aIRelisl ?

A) Rs1650 B)Rs.1700 C)Rs1760 D) Rs.1820
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_ Directions for Questions No. 68 to 70: Six persons A, B, C, D, E and F are sitting in two
rows, three in each. E is not at the end of any row; D is sitting second to the left of F; C,
the neighbour of E, is sitting diagonally opposite to D; B is the neighbour of F.
g4 el 52 @ 54 QIR G A, B, C, D, E 9a° F g604e dIG6R 8704 6asiN a8 I56a
<dgd | 6d6d 2IFa 6896a E @4 QIF; F @ QF1aeq §012 9ieea @38 D; C 64 @ EQ aseidl DA
QARG A6% 6602 QI6R 9AF; F @ A6e14!1 6298 B |

68.Who of the following are sitting diagonally opposite to each other?
G6qlIe 699 691G AR 60RRINIEE 93837
A)FandC B)DandA C)AandC D)AandF

69.Who is facing B?
SIB Qe @ 9d2E ?
A) E B) C D)D E) A

70.Who of the following are sitting close to each other in same row?
F64)I9 62RF1I6R 00IR FRT6R IRl JIGER 2T8a?
A)AandB B)AandE C)CandB D)EandD

Section - B : English
Instructions: Read the following passage carefully and pick out the correct one out of four
answers given below the Question No.71 to 80.

(1)Gender-based violence, including rape, domestic violence, mutilation, murder and
sexual abuse is a profound health problem for women across the globe. (2)Although gender
violence is a significant cause of female morbidity and mortality, it is almost never seen as a
public health issue. (3)Recent World Bank estimates of the global burden of diseases indicate
that in established market economies, gender-based victimization is responsible for one out of
every five health days of life lost to women of reproductive age. (4)On a per capita basis, the
health burden imposed by rape and domestic violence in the industrial and developing world
is roughly equivalent, but, because the total disease burden is so much greater in the developing
world, the percentage attributable to gender-based victimization is smaller. (5)Nonetheless, on
a global basis, the health burden from gender-based victimization is comparable to that from
other conditions already high on the world agenda. (6)Female-focused violence also represents
a hidden obstacle to economic and social development. (7)By sapping women’s energy,
undermining their confidence, and compromising their health, gender violence deprives society
of women’s full participation.

71. How does female focused violence stand on the way national welfare?
A)Women are killed by female focused violence and unable to participate in welfare
program.
B) Women do not join national welfare program in apprehension of gender biased

violence.
C) It drains women's energy, reduces their confidence, affect their health and hence

deprives them of full participation in economic and social development.
D) Women have not been given adequate representation in programs of national
welfare.
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72.What according to the author has never been considered a public health issue?
A) Female morbidity and mortality.
B) Rape, murder, sexual abuse and domestic violence.
C) Gender-based violence causing morbidity and mortality.
D) Gender based violence affecting women.

73.What is the burden of health problems caused by gender-based violence on the global

level?

A) Almost the same as that of health issues caused by other conditions already high on
the global agenda.

B) Greater than any other health problems in the WHO agenda.

C) Smaller than any other health problems.

D) Higher than the health issues caused by other conditions already high on the
international agenda.

74.How does the author compare the developed and the developing countries in the

quantum of health problems caused by rape and domestic violence?

A) The health problems caused by rape and domestic violence in the developed
countries are higher than that of the developing countries.

B) The health problems caused by rape and domestic violence in the developing
countries are higher than in the developed countries.

C) The quantum of health problems caused by rape and domestic violence in both the
developing and the developed countries are approximately the same.

D) The ratio of health problems caused by rape and domestic violence in the
developed and the developing countries varies from time to time.

75.Why the percentage of health casualties caused by gender based atrocities is smaller

in the developing countries?

A) The total health problems is smaller than the gender based problems.

B) Compared with the gender based problems, the total disease burden in the
developing countries is much greater than that of the developed countries.

C) The total health problems is roughly equivalent with the gender based problems.

D) Compared with the gender based problems, the total disease burden in the
developing countries is smaller than that of the developed countries.

76. Which of the underlined parts of the following sentence is not a Transitive Verb?

By gggmg women's energy, undermining their confidence, and compromising their

&
health gender violence deprives the society of women's full participation. None
G D

77.Which of the underlined parts of the following sentence is neither a Noun nor
Pronoun?

Gender-based violence, including rape, domestic violence, mutilation, murder and

A B
sexual abuse is a profound health problem for women across the globe.
C D

78. Out of the sentences numbering 1 to 7 given in the passage, which ones or one is/are
Compound sentence/s?

A)sentence 4 B) sentence 5 & 7 C) sentence 6 D) sentence 3 & 4
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79. Out of the sentences numbering 1 to 7 given in the passage, which ones or one
.ontain/s Passive verb pattern/s?
A)sentence 1 & 3 B) sentence 2 C)sentence4 & 5 D) sentence 6

80. Which of the underlined parts of the following sentence is an Infinite Verb?

Recent World Bank estimates of the global burden of diseases indicate that in the
A B
established market economies, gender-based victimization is responsible for one out
C
of every five health days of life lost to women of reproductive age.
D

Instructions: Fill up the gaps with appropriate Verb/Auxiliary Verb/Preposition from the
alternatives given below the Question No.81 to 85.

81.1 like listening to the radio but I am not always impressed the quality of
the programs.
A) with B) at C) about D) by
82. Take possession of the records immediately so that they are not with.
A) tempering B) tamper C) tampered D) tempered
83.Ireland was part of the UK, ?
A) Isn’tit B) wasn’t it C) hasn’t it D) weren’t it
84. Will he completed his work by tomorrow?
A) had B) have C) has D) been
85. The ski resorts are usually crowded. There are many people skiing.
A) enjoy B) are enjoying  C) who enjoy D) who enjoying

86. He enquired, “‘When do you intend to pay me?’- Change the sentence into indirect
speech.
A)He enquired when I intend to pay him.
B) He enquired when I intended to pay him.
C) He queried if I intend to pay him.
D)He queries when I intend to pay him.

87. Identify the sentence-Kailash Satyarthi was awarded Nobel Prize for Peace in 2014.
A) Declaratory B) Exclamatory C) Interrogatory D) Satisfactory

88.1 always love my country. - Change the sentence into negative without changing its
meaning.
A) There is no occasion when I don’t love my country.
B) There are occasions when I don’t love my country.
C) There is no occasion when I love my country.
D) No occasion is there when I love my country.

89. Pick out the correct sentence from the following.
A) None of the two books is useful. B) Neither of these two books is useful.
C) None of this two books is useful. D) None of the above.

90. Identify the degree of comparison in the sentence- Some beans are at least as

nutritious as meat.
A) Comparative B) Superlative C) Positive D) Negative
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Section - C : Odia

FeRaIaq: B¢ AYS AGERATY UQ ALRIER ARG Ie° &I 6R FAARRS g4 6 91 @ 95 @ AR
Qe 4o 903 |

QARIREIGS 6T QY TIR 64 60Q Ja@ 399, 62 Al 6qII1, YRR, B8 @1ee g8 | ATRS
qi§ QIR ¥Od Yeea aaIe adel, FIg ¢ IR @ 2N @] @dE | O SPIIIFER AR S1RRER
eIy 62989 60y 62 6FRIEY AEAE §4N9° CANIRE ATFGIER 64 6R6S Y41 62RACR 7IF | B
QISR @ € AV FT, I 69R 62 2ERIFS §4 | YA ALASA 62 7 g IQ° V1R ACRRER |
2 gilal B 29AIRER A8E @196 62 O] NS QAGAIT FRRIQ SES P9 | 6FAIG 60 629, AR
FRBIq 2lIY 668 K6 16 BIg Te gede QEQIQ, 62 QIR S6IN | AQEN B F18R RIET AEARRR
A2IRIE O Q GIeg Jad K8 QeQ &4, ‘67l IR FAIR 92 ..... AT AARIQ FAIRG! TR AIAUAYER
a0 60" | GAqUde BQ CIeR K28, 62 64199, @ QY $671 YL FINRER ARYIY”| 6J606RER 18IS
6d1eeqd, 6l QMR 28 ATES 9B, A3 IRAWGIA ANIS; IS 6ICEERER gIg U, 62 ARAQWG 1Q°
20R6Ia 241 g9, 7 699egd 93 o AINR & 2N | 98 cdlergd 98 We° afaqelg IO
Q19629 6298 2IGa YeTRIR 2IYYS | 92| 6ACEEIER ARAR CUCLERER 64 FIRRIT AUV} Q6T
21208 968 | @@ QI A8 eea FIRg &\ | AR AR “AULL." 6FIIRa geA | IR

Qe 1e° gAY QRATIR gO1R 6208 - 2 | 99 SB6IR1 6° 2Q1e 21FIQ JoR 2RI 2l | ANEITER
geYe 2I0Q AA18 FEQY AARRER S0 IQYE QA6IF, ALY QLIKIN AIRS - @ |

91. sdlengd 62 Ie° 919 URE 90aee!q IRI0 AIRRIq SRSIGE A06Q 2IFe Yedety @€l
QAQIQ 6297
A) FREIE IQ gD Ie° gARY QRAG UIBS KAQIg 629 |
B) aIR ‘229" 6AlERa geaIs @aalq 629 |
IR AARER IR IBSIFT 98° QIAULIS 2N QS K]S |
@10 AIURER €8 Ie° 29dRg RN, §9 Ie° AT 1Yl Ie° AREITER ATB FEQY
AR6R §@Q AT AAAIS |

92.590 gae AIER ATeel A9 RRAIER AIE?

A) Q90 GOR 0 9e° ZRY 9F 6911 6QIREN |

) ATes g4 AR 99 gIea 2212 QF @ &I |

) G90 9eR AIHa @ 2N @] @dS |

) ATRel gid A9l YOR gRa 2L @ 8] 248 @ &I |

o a W

93. agrie gedeia 2Igie K42

A) 6d1eegd 63 ¥e° 919 QUas ARRSIg IRI0 919629 |

B) edlensa 6dierad 9@ G 9Ig QUAE ORARGIA ZUNIAT 629! |
C) dig eule 9aeel ¥e° 2RRSIQ 2RI 6249 |

D) eﬁ]@@q@ 48 Ie° dCRQIQ 9I9 2aQ6a 919629 629 |
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94. 390 gae QTR 5eg 99 IS° SB21R A6RAER?

A) ©95aI468 ANFISE ATRG! 62Ig OI'R 6FAGIRIR B QP RIS IS° ATRG! 21AR AIN FeR

UV YV YRS 94 |
B) 2AIRE ATRCIER 69 6264 W1 QRAIER FIF 1e° GIg 60 62 RIS 94 |
C) 094 6Q QBRI 6292al ARIAING 694 62 9H1 94, 3¢ Fea @' § 21 @8, 0Ig

69% 6Q 2RI g9 |
D) 9gtdId6Q gal AAIRT 65T VIS 60F 62 F9Q Q¥ 1e° JBLIR FI6R Q6A |

95.°6¢1 R QIR 92 ..... AARE ARRRIQ FIIRG FFIR ABAUEA VIR 60" - QB8R 92 3T
@4 QI RUCAIB 2QERAER KZa3 ?
A) Q4R ALIRIE G QET T90 Yeag *La% |
B) 2@Q ge@ 48R ALRI8q I€ 295 @288 |

C) 96QINER FFIR LRI FALER SRR YT QBT G906 YIXg *F8T |
D) 9g8aI96Q QORITY 620 CRISAIEE 8 QBT 286 Yoeg K288 |

Instructions for Qn.No.96 to 100: Read the following sentences in English quoted from a
piece of news and pick out its most appropriate Odia version from the four options given below
each of them as A, B, C & D.
96. Then be watchful you don't act like the boss, rather display calmness catalytic to him.
A) 6UCEERER TCROR Q2 6UNA G6F ZRIRIAIT TR ALLIR | K, FV° BIF ARSER
RACIR VR SIS NS GREe @A |
B) QQI6R6% A0 @2 @ g6l AN A8 RIF 98 AIF, g SIF AFAG FARINR VNS 69N |
C) 69606967 FAE QL 64 9661 AP A QI @ @9, 626R FIF ¢ AT I @Q |
D) 62606967 SIFAR QIF @ FARR DS ARUIF @2 IS GIF YTEAN FAFNT 4ILIQ *Q |

97. When problems come, learn to watch your feelings and remain unruffled.
A) 6960696% QAN 2ITRI, FRR AFVSG ST &%t B 2TFIB QL |
6606967 AAQY 2IYE, PAN VLRI e KAAIG JF AR 9e° ATERE Q2 |

)
) 69060696 AAIQY 2ITE, FeQ 6900Ig FIFe @8 8 §ogR 92 |
) 66966 ANAY 2ITR, FAR AELEG FaFie FRQ IS FORG 62ARTS |

o 0O @

98. |n fact, if you intellectually analyze, it is the problem of the boss, not yours.
A) QI26R, A8 9661 9RAGIR ATE F6ATE @1, N2 §F AURINIFA AAAY, AR 6% |
B) g9esa qI6de 2060 F6905I Q6R, GI2] §FIR AFM, AR ANFR 6< |
C) Qe6a 0 VI6e T2 @sm L 97 AT ACIAY YR, YR @ R |
D) gQesa SANIEe AGAIe @A 6QYR 2GR AAAY, PAR AFTTR 6% |

99. et us say your boss is an arrogant person who often deals roughly with you.
A) €68RQ 9FIR OF 641 QUG ERIP Ne° 64 AQIEIER 71 ATE ARIAR AR QTS |

B) §QIQIR 97 2150 968 2 FRIee 6RIQ A & 98 gesa 90 AF6 @RISR K63 |
C) ¢6¢192 @ P9 AN K64l AVFERIF B AQ ACACA @71 ATG AAQ MALIA @93 |
D) Q2K @ 9rR ANRIR 964 2eFIR1 48 9 86Re A6 97 ATC Q8 492IR @3 |
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100. Why should you be upset and feel yourself very miserable?
A) 966 QIT @ 6L 62IR AR I CUR1L 2GRS OR?
B) §6¢1RI2 @ QIF 989 e feq a6 00a1a 8gee @ae?
C) 9671 59AI2 Ye° CAISR1E 2GRS FQ FIRR |
D) 967 QIF 9G] I QU1 AQVR FAR AP TR |

Instructions for Qn,No,101 to 105: Read the following sentences in Odia quoted from a piece
of narrative and pick out its most appropriate English version from the four options given below
each of them as A, B, C & D.

101. Geiid, egdul @°]E B QSRR ATFLR BESIR ERIFAISE ¥NAQ IAACRG FF6RISE e
YOS Feq 2°Y6 6 AasIa Fasa 2A9E eaoIRe? |

A) Yet, the people of Odisha which is a melting pot of various cultures have
protested all these storms and made their own culture continually flourish.

B) Yet, the people of Odisha, a melting pot of various cultures and traditions, have

withstood all these pressures and made their own culture and tradition continually
flourish through the ages.

C) On the other hand, the people of Odisha, a melting pot of various traditions, have
withstood all these pressures and made their own tradition always flourish.

D) However, Odisha being a meeting zone of various cultures and traditions, its
citizens have stood against all these forces and made their own culture and
tradition survive through the ages.

32410 ERIRAIER QLMY A°YE IQ° QP TRl AAR ACE |

A) The public of Odisha are in possession of valuable culture and big tradition.
B) The people of Odisha are endowed with rich culture and high tradition.
C) The citizen of Odisha have been gifted with rich culture and high tradition.
D) The citizen of Odisha are owners of rich culture and high tradition.
103. QIRAERMIOIES B3I A°YE 8 TFAl FLIRT AIRE ARG ¥e° 6320Q FAJQ0ISR 2T g
6090 SeQYAIRE ARE ATRAIES AR 62R2T |

A) The Odia religion and tradition mingled with that of Biharis at Rourkela, and
also matched with that of Telugus of Andhra Pradesh at Jeypore.

B) The Odia culture has mixed with that of Biharis at Jeypore and similarly matched
with that of Telugus of Andhra Pradesh at Rourkela.

C) The Odia tradition have efficiently matched with that of Biharis at Rourkela,
and matched with that of Telugus of Andhra Pradesh at Jeypore.

D) The Odia culture and tradition have successfully matched with that of

Biharis at Rourkela, and similarly matched with that of Telugus of Andhra
Pradesh at Jeypore.

104. 9@IQ gQ1, RAEAYQ, AN, ARAEAN I° FAJQ0IER ‘ZII"Q%@Q Q6N TR |

102.

A) The cultural fusion has taken place here at Puri, Bhubaneswar, Sambalpur,
Rourkela and Jeypore.

B) Cultural erosion had taken place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

C) Admixture of cultures took place at Puri, Bhubaneswar, Sambalpur, Rourkela and
Jeypore.

D) Instances of degeneration of culture has been found at Puri, Bhubaneswarr,
Sambalpur, Rourkela and Jeypore.
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105. gQroisa KaIRIEl QAIARI 98T, F1650RIE 6386 RAIAF! A8E 1e° 6418 1 ZYea
Q° 2RQR A% |
A) The Jagannath rituals, the Vaishnav rites of Sri Chaitanya Dev and
Buddhism were perished at Puri.

B) The Jagannath culture, the Vaishnav culture of Sri Chaitanya Dev and

Buddhism flourished at Puri.

C) The Jagannath cult, the Vaishnav cult of Sri Chaitanya Dev and Buddhism
have moled and moulded at Puri.

D) The Jagannath religion, the Vaishnavism of Sri Chaitanya Dev and Buddhism
have started and expanded at Puri.

106. Geqlie 0@ AIeE ARIQ 6066 ‘YgIIE QA" T2 |

A) agRIe B) agd C) qeieR D) 6Q412Q
107. ggeq @9 Go- 126a 699 393 Qg0 621987
A) gola B) ogell C) asen D) §o1aM

108. 60Q AIA6R G< A9R §o121 0Ig AGAN a8 6@ 3RS 6RIQ QIR SIIg @ AAI

QI

A) Q8918 B)6Qg¥  C)@dkiieg D) AMLIRIR
109. S8 Q@ AIeG FRIQ 696 ‘2GS’ S8 5912 |

A) A9QIF1  B) gaaql C) 2@ D) a8ge
110 Secip Q16 Clow IR 6606 ‘@6w’ QIQY 5918 |

A) QR 629IQ AFIFIER SUIQ ETAER |

B) Q®yl 2RI 99° AYIAIEE QAIQ 6TA6R |

C) 60606965 ARYI 68RI AVIFUER FAIQ 6TAER |

D) a8y gees agdriee aaig 6crasm |
111. B6qie Q@ AIee AIQ 696 ‘08¢’ a8 F218 |

A) @18 B) & C) alogI& D) aiagl
112.36q18 9@ AIew FRIQ 6996 AIQEY 2@ AN F2I12 |

A) @2 B) @& C) 6629 D) @626R
113. SoRge MRIQ 6996 ‘GAT’ AR ILRY, 926 @R |

A) 9eed B) 0%%% C) @60 D) LIRS
114. F6q)I8 Q@ I FRIQ 6966 '§es AQ 5212 |

A) @06l B) 6301aa8 C) 9@4 D) 63RIG
115. GoRge AR 62966R PO10I FBA FATIR 6TRFIF |

A) GRIS 6RURER KL B) Q°glil Q@06 AIe

C) 6169 631N 6] D) §10g 4I0Y GeRIR
116. 53¢ QYO QIRUAIGS FRIQ 6968 ‘U AISY Fa @4 |

A) G6LRENES ARFER GBS |

B) @@ J@6a AQ°HY 6304 520 626 |

C) 9QIA AR 620IRE 23R QAR QIR |

D) 64 6€11Q &8 91 MR 6969 |
117. Seqe a@ AIeE FRIQ 6996 ‘G QAT g dr Jei2 |

A) G50 B) @109 C) &<l D) Ga@



118. S6qIe 0 FIRE CRIQ 6298 ‘YT" AT AR 98 5212 |

A) 654l B) 9G9® C) ge@ D) u&a1
119. Gegle A IR IR 69AF 609" dR T2I12 |
A) o6 B) ge&4l C) gaa D) QAQIQ

120. “sQISIQE JEIQE’- 9T Q@R 99 28 @ &7
A) aege Gea 629l B) aagl ea @ 629
C) 8g¢l QI8 @2l QIEQ 2 ARV
D) Q@ll 9I¥ g SIS0 2RIQ ARV
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